
Subtraction mix up

© Primary Stars Education

Cut out the cards and match the first, then and now to the subtraction problem.

QUESTION FIRST THEN NOW

First there were _____.

Then _____ were removed.

Now there are _____.

13 – 2 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

15 – 3 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

18 – 4 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

17 – 3 = _____.
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QUESTION FIRST THEN NOW

First there were _____.

Then _____ were removed.

Now there are _____.

17 – 4 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

19 – 5 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

18 – 6 = _____.

First there were _____.

Then _____ was removed.

Now there are _____.

16 – 1 = _____.
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Cut out the cards and match the first, then and now to the subtraction problem.
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Cut out the cards and match the first, then and now to the subtraction problem. Then complete the subtraction problem.

QUESTION FIRST THEN NOW

First there were _____.

Then _____ were removed.

Now there are ______.

13 – 2 = ______.

First there were _____.

Then _____ were removed.

Now there are ______.

15 – 3 = ______.

First there were _____.

Then _____ were removed.

Now there are ______.

18 – 4 = ______.

First there were _____.

Then _____ were removed.

Now there are ______.

17 – 3 = ______.
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QUESTION FIRST THEN NOW

First there were _____.

Then _____ were removed.

Now there are ______.

17 – 4 = ______.

First there were _____.

Then _____ were removed.

Now there are ______.

19 – 5 = ______.

First there were _____.

Then _____ were removed.

Now there are ______.

18 – 6 = ______.

First there were _____.

Then _____ was removed.

Now there are ______.

16 – 1 = ______.

16

4

17

5

19

18

Cut out the cards and match the first, then and now to the subtraction problem. Then complete the subtraction problem.
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QUESTION FIRST THEN NOW

First there were _____.

Then _____ were removed.

Now there are _____.

13 – 2 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

15 – 3 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

18 – 5 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

17 – 3 = _____.
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QUESTION FIRST THEN NOW

First there were _____.

Then _____ were removed.

Now there are _____.

17 – 4 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

19 – 5 = _____.

First there were _____.

Then _____ were removed.

Now there are _____.

18 – 6 = _____.

First there were _____.

Then _____ was removed.

Now there are _____.

16 – 1 = _____.15
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